Math 33a Practice first hour exam. This is a closed book exam.
1(30). Find the following limits (include caleulations!):
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25). Determine which of the following sums converge. Carefully explain which test you are using
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¢) Determine where the series 3 **=— converges (include a careful picture of the points @ for which it
nverges).

'
L= M \xr2|”
B L WY
1521 ™

o . f- 'w_r-f-'l‘)
K=t < | Cond&rhfp: e e lepop Y

2 L |

-

20 f:? = |nt 2}
|ed

L= &
Bt > l#ue\!SGnce Hem| z- | Ll rjes (‘i""*“{’t"\'
3a)Define lim @, = L. VLA, %” 15~ (ot ceintont)

1 P
B 2 €50, Xt exist o N oot mEN =D N - L (4 E

b) Prove that if a sequence =, converges, then there exists a constant M such that x, < M for all n.

T,

caprd v.raq hy

'F- N . .
é---—?-—ﬁ---‘#—--‘-;w fuee T he 'U—gztw-t M N=D Tﬂ‘- L+ |
L~ L Lt Thet M= e {90\ 0, Xy 5 bt n}.m_
et M o~ gl

<o (Lt covpontrut)



¢) Define: the series 3°°° | a,, converges.
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d) Prove that if 0 < a,, < bn and 37 b, converges, then 3 an converges.
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